Name: Date:
Congruence: Cumulative Review

Write a congruence statement.
1.

:Ea ¢
;

Describe the transformation.
3. 4,

/>~ N\ —

Determine whether the following represent a rigid transformation. Explain.

5. v 6.
26
\/ -
24 A ' Vel
X—l—B—I—Z

Determine the indicated angle measure(s).

7.mZ2ifmL3=77" 8. mZ4 if m£1:=115"
9. mZ6 = (2x+1)° 10. mZ£6 = (60x + 40)
mZ5 = ($x - 6)° mZ2 = (20x +120)
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Name: Date:
Answer Key

Congruence: Review

1. AXZ XC; BXZ XD; AABXZ AADX(SAS); ACBXZ ACDX (SAS)

.ANZ LP; SXZ BX; CXX TX (STZ BC)

. Reflection and translation.

. Rotation and translation.

. No. This is a dilation. Because the size of the object changes, it is not rigid.
. Yes. Size and shape are retained. The corresponding lengths are congruent.
.mZ£2 =103

. mZ4 =115’

X =74, mZ6 =149' m/5 =31’

10. x=2; m£2 = m£6 =160’
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